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¢ | 9134 AR2AU & 2% | a1
1 00100 |¢3Ren 29 & 3.1.-3.30 | 3.1.-3.30
2 0100 | opstn 29 22| 3.1.-3.30 | 3.1.-3.30
3 200 | HEd|et &34 o A) A3 | 3.1.-3.30 | 3.1.-3.30
4 200 | dARsD HEMN =X 3.29 3.29

5 200 184 oipstn WSsHE $8 2X | 3.11.-3.29. | 3.11.-3.29.
6 200 | 181 Ol& AF2 HE 28 3.4-3.29 3.4-3.29
7 200 | 184 sty NSHE 2 3.11.-3.29. | 3.11.-3.29.
8 8OO |18 sty nsHE 8 X | 3.11.-3.29. | 3.11.-3.29.
9 200 | 184 sty NSHE 2 3.11.-3.29. | 3.11.-3.29.
10 | SO0 |284 ¢1stn) NS|HE 3.25-3.29 | 3.25-3.29
11 200 |28d =otelets HE 48 3.25-3.29 | 3.25-3.29
12| 800 |¢3 2N AZS 42FH L 24 3.20-3.26 | 3.22-3.26
13| 0100 | 284 oAk AL HE 3.25-3.29 | 3.25-3.29
14| 2 O |28d 18 WA $8 2X | 3.25-3.29 | 3.25-3.29
15| 2100 | HARstn HEAN =3 3.18-3.22 | 3.18-3.22
16| Z=OO |[384 oipstn NKHE 48 3.4~3.30 | 3.4~3.30
17 | 0lOO | 384 OlA AFR HIE £8 3.4~3.30 | 3.4~3.30
18| 200 |[384d ¢ipstn DA $8 X | 3.4~3.30 | 3.4~3.30
19| 200 |34 sorz|gs A2 8 3.4~3.30 | 3.4~3.30
20 | HOO |38 pstn NSHE S 3.4~3.30 | 3.4~3.30
21 2S00 | Ytz X2 XN E gror Sot 3.4~3.30 | 3.4~3.30
22 | 8tO0 | oH3pEtnm @ mOLHE S 3.18 3.22
23 | 8O0 | ¢ipstn SHMEOIR|E S HE &g 3.25 3.25
24 | 2100 | 484 OllAF AFR HIE 2 3.20 3.20

25 | 00 | AgF2t HE ¥ 3.22 3.22
26 | 20O | SHEE HE 28 3.25 3.25

27 | 200 | 484 SIEXAHAIR St HE 3.16 3.26

28 | 200 | 584 llat AFR HIE 28 3.4.-3.29. | 3.4.-3.29.
29 | HIOO |¢3&n A2%4 U BX 3.22 3.22
30 | 200 |58 15D NN E 28 3.11.-3.29. | 3.11.-3.29.
31 200 |58 oipstn NsHE 28 22X | 3.11.-3.29. | 3.11.-3.29.
2| HOO |584d ¢pstn BILHE 2 3.11.-3.29. | 3.11.-3.29.
33| 20O0O | &Mz = HE 28 3.20 3.22
3| 200 | ME, AIZ AZSE R XA 3.26 3.26
35| 200 | 684 OlA AFR HE Y 3.4.-3.29. | 3.4.-3.29.
36| HOO |d3pstn HEMN 23 X 3.20 3.20
37 | 200 |68 15D NKHE 2 3.11.-3.29. | 3.11.-3.29.
38| EHOO | Uvtst Xz MIE gror ok 3.21 3.26
39 | 200 | WEt) Hpstn nsAHE Y BX 3.29 3.29
40 | 200 | d3sn HEM =FH 88X 3.29 3.29

41 0100 |o1pstn HEM &8 BX 3.29 3.29
42| 200 | sty HARstn NEHE S 3.29 3.29
43| 200 | HSH ARstD DSHE 28 3.11.-3.29. | 3.11.-3.29.
4 | 200 | ISSS) Mg B2 H3 3.25-3.29 | 3.25-3.29
45| 200 | ISS=E) M2y 22 o 3.25-3.29 | 3.25-3.29




